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Christmaths with The Simpsons

Maggie’s Problem
Santa brought Maggie an abundance of building blocks.
The tower shown in the picture is 5 layers high and contains
15 blocks. If Maggie built a similar tower, 100 layers high,
how many blocks would she need?
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Mprs. Krabappel: Now whose
calculator can tell me what 7x8 is?
Millhouse: Oh! Oh! Oh! ‘Low
Battery?’

Mrs. Krabappel (sighs): Whatever.
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Food Tech class {s not an excuse for a five drill.
Food Tech class is wot an excuse for a fire drill.
Food Tech class is wot an excuse for a fire drill.

MAGGIE SENT HER

Today’s Chalkboard Anagram (2 words)
Today’s screened Maths moment
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